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= 44,679 44,679 0
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< 143,955 32,700 111,255
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O=&Us =gl Z& 67,000,000 67,000 42,000 25,000
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Al 34,000 22,700 11,300
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< 5,000 0 5,000
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< 5,000 0 5,000
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< 5,000 0 5,000
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< 14,955 0 14,955
Al 34,8% 0 34,89%
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< 14,955 0 14,955
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101 2124d| 21,581 16,931 4,650
04 DIt 22XRSEx 21,581 16,931 4,650
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—JIE= 43 13,392,000& 13,392 9,938 3,454
-5 Z& 4,760,000 4,760 4,023 737
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soll= &S 3,738,172 3,477,372 260,800
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2l 1,090,830 1,090,830 0
< 316,197 355,197 /39,000
Al 2,286,466 1,986,666 299,800
E3t0llz A 889,979 731,979 158,000
< 70,000 0 70,000
Al 819,979 731,979 88,000
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02024 Xt2statAd 100,000,000& *12 100,000 0 100,000
(= 50,000 0 50,000
Al 50,000 0 50,000
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40,000,000 %12 40,000 0 40,000
= 20,000 0 20,000
Al 20,000 0 20,000
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308 XXM SO0IA 700,000 700,000 0
= 100,000 200,000 A 100,000
Al 600,000 500,000 100,000
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Al 32,800 49,000 A16,200
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Al 32,800 49,000 A16,200
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